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Z@X{?gfé{f? ZV&;«"?{’

Name

Instructions: Please show all of your work as portial credit will be given where

Dylan Twick

appropriate, and there may be no credit given for probiems where there is no work

shown., All answers should be completely simplified, unless otherwise siated.

1. {10 pfs each) Evaluate the integrals.
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{(Note: Thisis #1 continued!)

{c) f f ‘j\l 4x dz dv dx
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2. {12 pts) Find the area of the region inside the circle
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3. (12pts) f R={{x, y):0sx6,0<y=4}) and Pis the partition of R into six equat
squares by the lines x = 2, x = 4, and y = 2. Approximaie ffR fix, vidA by

calculating the coresponding Riemann sum Z fx,, ¥ A A assuming
k=t

that (£, v, are the centes of the sixsquares. Take  f(x.y)=vx+y .
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4. (12 pts} Find the volume of the solid in the first octant bounded by the plane
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L
5. For the integral V::f f f dxdzdy . do the following.
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{a} (8 pts] Rewrite i, chongz‘ﬂg the order of integration 1o

. + -, 2

evaluaie it, just set it up.)
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(b} {7 pts) Rewrite it using cyIMANET! coordmates. (Don't evaluate i, jusi sef d

up.)
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6. {7 pts) Forthe integral V= f | j drdz dy | rewite it using

1] ) 0

spherical coordinates, (Don't evaluate i, usi setif up)
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7. {17 pis) And the surface area of the part of the cone
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by tand underneath) the piane
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Extra Credit (5 pts): Calculate f e " dr . Nolethat you must show your

calcuiation, you cannot just stafe the answer.,
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